BEILFE - FEEFZRIL B - #E - NE BIFLEER
2 0 L # 3 £ % £l 3% £ &=
£ (FO) 22 & 21 & 15 b5 22 & 21 & 1% P 22 & 21 & 1 P5i
1H~128 | 1H~128 4 o % 1B~128 | 1B~128 as o % 18~128 | 1B~12A8 1)
E E L OFE 170 210 -40 -19.0 103 147 -44 -29.9 60.6 70.0 -9.4
® A 11 14 -3 -21.4 11 15 -4 -26.7 100.0 107.1 -7.1
58 = 47 63 -16 -254 30 48 -18 -375 63.8 76.2 -12.4
i X 25 29 -4 -13.8 23 12 11 91.7 92.0 414 50.6
58 & 11 25 -14 -56.0 9 19 -10 -52.6 81.8 76.0 5.8
BRER - SF5%E 1 -1 -100.0 1 -1 -100.0 100.0 -
ElH LD 76 78 -2 -2.6 30 52 -22 -42.3 395 66.7 -27.2
EEHZEPL 3,355 3,819 -464 -12.1 2,307 1,977 330 16.7 68.8 51.8 17.0
g A B 2,718 3,280 -562 -17.1 2,152 1,841 311 16.9 79.2 56.1 23.1
FEXR 1,334 1,536 -202 -13.2 1,531 1,139 392 344 114.8 74.2 40.6
T oE B 885 1,074 -189 -17.6 791 687 104 15.1 89.4 64.0 25.4
B R H 399 369 30 8.1 720 396 324 81.8 180.5 107.3 73.2
B = & 50 93 -43 -46.2 20 56 -36 -64.3 40.0 60.2 -20.2
z D i 1,384 1,744 -360 -20.6 621 702 -81 -11.5 44.9 40.3 46
B & E & 532 415 117 28.2 139 112 27 24.1 26.1 27.0 -0.9
Vof=KY 62 69 -7 -10.1 9 19 -10 -52.6 14.5 275 -13.0
El Y 43 55 -12 -21.8 7 5 2 40.0 16.3 9.1 7.2
£4 (£0) RE AR o A , £ %
22 & 21 & 1 b5 22 & 21 & 1 pEd 22 #& 21 & 1 B
18~128 | 1A~12H4 A 8 % 18~128 | 1A~12H A 8 % 18~128 | 1H~128 A = %
E Z N F 76 101 -25 -24.8 57 79 -22 -27.8 19 22 -3 -13.6
3 A 9 10 -1 -10.0 9 10 -1 -10.0
58 &= 37 51 -14 -275 24 36 -12 -33.3 13 15 -2 -13.3
i)' x 9 7 2 28.6 8 7 1 14.3 1 1 -
58 %% 4 13 -9 -69.2 4 9 -5 -55.6 4 -4 -100.0
BRER - SF5%E 5 -5 -100.0 5 -5 -100.0
wElHhLED 17 15 2 13.3 12 12 5 3 2 66.7
EEHGEL 162 216 -54 -25.0 129 165 -36 -21.8 33 51 -18 -35.3
B A & 120 169 -49 -29.0 99 137 -38 -27.7 21 32 -11 -34.4
FEXR 39 57 -18 -31.6 32 49 -17 -34.7 7 8 -1 -12.5
T oE B 29 39 -10 -25.6 23 36 -13 -36.1 6 3 3 100.0
B R H 7 8 -1 -12.5 7 8 -1 -12.5
B = % 3 10 -7 -70.0 2 5 -3 -60.0 1 5 -4 -80.0
F DO i 81 112 -31 -27.7 67 88 -21 -23.9 14 24 -10 -41.7
EREIE 32 37 -5 -135 24 19 5 26.3 8 18 -10 -55.6
Uof=<Y 6 7 -1 -14.3 2 6 -4 -66.7 4 1 3 300.0
El Y 4 3 1 33.3 4 3 1 33.3




